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PART - III
efleoriflc) / ZOOLOGY

&

( SUOD HMD @ EIHe afl / Tamil & English Version )

12Th March 2023 R

[ Guongs wFiGudasr : 70 |

&M Ijaray : 3.00 wexfl GHyLb |

Time Allowed : 3.00'Hours ]~~~ " ; [ Maximum Marks : 70

a_;ﬂsqmu&s‘n (1) sy eflenmésenid sfuims Lfard 2 GTeNST GTeTLSST FALTTSE)E

Qsraramayid. SiEsUSAD GoPGIAe Siop samEreiuTeaTi i
o LTI QzMefésa)ny-

(2) Beodb  sdwg MUY  ow¥oar W HGWL
S 5Csmy DeugnhEn Lwerw @
Quendley LI Ssa|ib.

TWSUGHELD
58 Geauar(d. uLkiser uMreusnHE -

Instructions : (1] Check the question paper for fairness of printing: If there is any lack of
fairness, -inform‘the Hall Supervisor immediately.
(2) Use Blue or

Black ink to write and underline .and pencil to-draw
diagrams.

UQQ.;I/fAkT-I
GOy (i) | ‘a{m&m,é_'r)g,j eflenméa(@néE o aﬂml_uéﬂésam@. | 15x1=15;
(i) Qer@ssLILLerer wrm) elerL_safld lﬂ];ﬂs
CsiQs0556 GO HL eferul
Note :' (i) Answer all the questions.

Qb FHyenL_ eﬁ]é)Lmng
®anyb Csisgl erpsaib.

(i) Choose the most appropriaté answer from' the given four alternatives
and write the option code and the corresponding answer. s o
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2
Aprdlentissensden_Gu Cunly. sryemons gpuBas :
() Gsmbsrey UMDS e (=) 2 wiflar werpey
(&) sl @Huan UTPEnS () Seiwrhmid
Competition between species leads to :
(@)  Amensalism (b)  Extinction

(c) Symbiosis (d) Mutation

Brss Qs md sarmad @SSl LLELRSSILPAS :

(=1) WBLLigenser () 81 Hengriumen

(8) Quigrenssefler () evgsGermavGuirflen A
is used to lower blood cholesterol level.

(a) Statins (b) Clot buster

(c) Tetracycline “. n2(d) " Cyclosporin A

Epeumeuaneupmier smECETEMOTESSMS LD 2 @TeLWTeT Sapml etgl ?
(=) @r@é6 smsCanemd apai(dsE smECanerons wrmb HePss -

(=) smeydD WL Wemps LQAsDRama o meurga . -

(8) sm&Gamend smlienLbe SouHL e L lg&QSTETEnso

(F) apo Qanstsd BsEsaldmbg GHUALL 2 pliyser Corammse -
Which one of the following is true to gastrulation ?

(a) Formation of three germ layer embryo from single layer embryo.

(b) Formation of multicellular structure from zygote.

(c) Attachment of blastocyst to the uterine wall.

(d) Formation of specific organs from Primary germ layers.
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Spssrgpd GMUIGsNS apy @GN QuidCuraiiamad GAuh Qaidng ?
(<) UUU (<) AUG

(@) AuC () UAA
Which of the following Codon codes for methionine ?
(a) UUU (b) AUG
(c) AUC (d) UAA

ZW-ZZ euens uned flirewrwid sreTiu(eus) :

(1) eaieuer (<) upeeusgeT

(@) Banser (%) Gupsan simesgid
ZW-ZZ system of sex determination occurs in :

(a) Reptiles (b) Birds

(c) Fishes (d) All of the above

sarfeuar @engdlen QuUITHSTELD

(1) CualGunCemuild QuEpRIsTELD
(=) BCerGamuis Qupristald

(@) yCrm_CrrCGsmuis QumrisTed
() EGemmGemis QuepsTeD

'i‘he golden age of reptiles was :

(a) Paleozoic era

(b) Mesozoic era

(c) Proterozoic era

(d) Cenozoic era
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7.

Yaasans weflgean’s Guras Gamomwellssema :
(1) TromYsd sen (<) CanrGuom eryéiLev

(@) Capmflaiser () pevyGamisdsd

was the first human like being.
(a) Ramapithecus (b) Homo erectus

(c) Hominids (d) Australopithecus

penaiflealBhg sL_afBéE pomb efandamsd :
(1) sl gmoe (<) GvieGarm@giioed
() siemlymoey (7)  whQsioed

Animals that can move from Fresh water to Sea water :

(a) Catadromous (b) Stenothermal

(c) Anadromous (d) Eurythermal

wpse g Hreu QeuallCupnsdne eranm @Quuwi.
(=1) TEAALGLLA (=) oL (HEFeranLo

(@) avQuimpmiésl (F) Si@eQuilur

The first ejaculation of the semen is
(a) Orchidectomy (b) Infertility

(c) Spermarche (d) Azoospermia
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10. QWemevGumgwsder ypsfleuliugny msGagnGsreall perL@QumIbD GLLb :
(<) @eorueu () @rés Sauiugn
(@) s@aTad () SwsCaresl Hadr
Exo-erythrocytic schizogony of Plasmodium takes place in :

(a) Stomach (b) RBC

(c) Liver (d) Leucocytes

11. yarurd anriGureamer QLavGLTeveGrren sr&ED @LID :
(=1) lbzs G SMmETEGLO (<) QerGLrell Qgevaar
(®) yCrmenGLL &mnd (7) &Sigds Qaed
The male sex hormone testosterone is secreted from :

(a) Epididymis ' (b) * Sertoli cells

(c) Prostate gland (d) Leydig cell
12. GLrCLm, uwelser Yo, cv@Ldofar sLd Ls dwapbler siflefhE smyembd

(=) aumfl @iy (<) Wens LweLM(H
(@) @b wryb Geuermamentd  (FF) aumfLmsar gerLm uu®hgeo

Dodo, Passenger pigeon and Steller’s sea cow have become extinct due to

(a) Habitat Loss (b) Over exploitation

(c) Shifting cultivation (d) Habitat fragmentation
E ’ [ Swliys / Turn over
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13. PeUeUNEDLL G QTG :
(1) 1gA ()18
(@) 1gm i 2
Allergy involves :
(a) IgA O F
© IgM (d) IgG

14.

B 2 exreys snfuD sifsuls DDT Qadley sraliu@eus :
(=) Qséd |

(=) sLDUDPe (Semsemer 2 @TE@ID LDEeUSET)

(®) smaur Wsemeu 2 u9flser '

() B

"The highest DDT concentration'in aquatic food chain shall occur in :

(a) Cell

" “(b) Seagull (Fish eating birds)

. (c) Phytoplankton

15.

(d) Crab

unsleflurelle) Lime QamiQuBESED pear QUMD wpen

- (31) Qwamrzed : (=) Cafl 2 (peumdsid

(@) GevCuni 2 (Heunsawd (/) era@rGLmevGumT 2 (Heunsaid
The mode of sexual reproduction in bacteria is by :
(a) Conjugation (b) Formation of gametes

(c) Zoospore formation (d) Endospore formation
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u@# - II / PART - I

@fluy : emeaCugud oy eflannéie epé @, Gﬁlam_maﬂemsum aflenm et 24 -G
SL_L_muwns a&]m;u_mﬂa;a;mm 6x2=12

Note :  Answer any six of the following. Question No. 24 is Compulsory.

16. GemevGrGLmA ereémmmed eremen 2

What is Plasmotomy ?

17. @@unAGUTEgafa wHmib av@uimol CLrQgaflfley — Ceumu®ss)s.

Differentiate spermiogenesis and spermatogenesis.

18. Guwi CrrélLnenevd) @epun® eremmmed eremar ?

What is Mayer-Rokitansky Syndrome ?

19. @aGuraarGsagen eI Graram ?

What is Lyonisation ?

20. Q&MFNS GIRTLRIGET GTRIDIE GTaTa ?

What are Okazaki fragments ?

21. 29fwg Eirey cremmmed cTeman ?

What is bio-remediation ?

‘ EI [ dmLys / Turn over

www.kalviexpress.in



www.kalviexpress.in
6637 8
22, "Qapgreys Usssw” - @est LpH e-arEE Apfleug crerer ?

“Red data book” - What do you know about it ?

23. flens ety L ib — euTLYGSHELD.

Define Eutrophication.

24. Senambderio Cpmid@ ardlyna sELLE surllssiiu_aloma. ger ?

Vaccine is not produced against Chickenpox. Why ?

u@$ - Il / PART - I

Gy : aemaCueyid m aEsErsE aﬂmn_uaﬂe;&mm elenm erehr 33 -5
S ; . 6x3=18

SO Ot T

- sl muwrs elewel&sayid.

Note : Answéf any slk of the foﬂbﬁrﬂ;é.l Questwn No331s ébiﬁpﬁf#bry. ‘

25. Qereyififlere ereueurmy Qeari@Qumss Hevaulamrg Coumpul-Herarg ?

How does juvenile phase differ from reproductive phase ?

26. pdips eflbgameiler ULLD euamIHg LTGHBIEMaTE Ghésab.

Draw a labeled sketch of a spermatozoan.

27. mEGYS gL wHYL bgEYd gL — Cunubsss.

Differentiate tubectomy and vasectomy.
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Sefomhps (Bam;urrqu_G%T Aoyt usTyseer T(PGIS.

Write the salient features of Mutation théory.

@Lbu@mn@(‘;mnqaﬂﬂﬂa‘n uesfladr wreneu ?

What are the functions of immunoglobulin ?

Oprseeser — auarumGsayLD,
Define Fermentors.

[

PCR -en gpeueun(m snilgid mggmm@shﬁmnwcgmmuu®é]dmm ?PCR-a [~

- penGanmy. wHYID q.6rem.er. LimedwCredlan UkI@ wirgl-?-PCR &fled Liwe(ssLi-

UEW .crér.er. LTllwGrev aps o uifan B mps QupLLGSans ?

N AT P T ST B . Qe WO T y N TS TN
Mention the number of primers required in each cycle of PCR. Write the role of
primers and DNA Polymerase in PCR. Name the source organism of the DNA
Polymerase used.in PCRNY (il e, o2 oe05 wnan i W
AUy efsd whmib @miiy eSsib — CaumuPsgis.

Differentiate Natality and Mortality.

TG @ ChHml Bide. e g wHm o ulferiisedr BTEGUSHEG 2 g6
Ufdmg. ger ? T

AIDS is not a disease. But it facilitates the attack by other organisms. Why ?
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u@d - IV / PART - IV

GOy : simenss eflanméas@ps@n eflenLwafléasea] . 5x5=25

Note : Answer all the questions.

34. (=) wrgeflmi swhdllen LaGan Hawsmer alaréEs.
S{eVe0g)
(=) Lo HEseTand Ganed eree ? WL (HSSATE@IDESTET GTTRTRIGEET CT(LPSIS-
(a) Explain the various phases of the menstrual cycle.

OR

(b) What is infertility ? Write its causes.

35. (=) walls wuans S sfer ApPLIALGLGMET CT(HE!S.
3|6V6VE)

(<) Lriedeflen @medaer whmib @padCrelu eulurQrly&er dwamau
sseumLLILL LUTaugiéstar Aphs aRSsI66T_HEdT 2 Eh. QECsTHEnm_ary
Aumudu®sss.

(a) Write the salient features of Human Genome Project (HGP).

OR

(b) Darwin’s finches and Australian marsupials are suitable examples of adaptive
radiation - Justify the statement.

36. (1) papLen aump CuH@srdrer Gouamgll UTPEES (PeD LOTHDRIGET Wrenel ?
IENME] '
(=) padflane wHm Grerbd B gmLaTiy gensos@EhddaL Guwirer
Caumurphaener eT(LpgIs.
(a) What are the steps to be adopted to lead healthy life style ?
OR

(b) Write the differences between primary and secondary immune responses.
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37. (=) feiE peonsssden pateniosa LHMID Semiosdr wrma ?

eIV
(<) Bladai LL1 Ljeud aTenpe) crenan ? SiBe euenssmar AeréE5.
(a) What are the advantages and disadvantages of cloning ?

OR

(b) What is population dispersion ? Explain its types.

38. (=) 2 W@fw LDIMSESSHTLO ungsmider Gurgeurer 2 gdlser wrapeu ?
S5 |
(<) sfeybr ss@sfNden Haasmer ANeaT&EES.
(a) Write the general strategies in conservation.
OR "

(b) Explain the process of sewage treatment.
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